Vypočítej podle vzorce:	
	

	I.   

                                             						II.  

1. 
=

2. 
=

3. 
=

4. 
=

5. 
=

6. 
=

7. 
=

8. 
=

9. 
=
10. 
=
11. 
=
12. 

13. 

14. 

15. 

16. 

17. 

18. 

19. 

20. 

21. 

22. 

23. 

24. 

25. 
[bookmark: _GoBack]

oleObject3.bin

image4.wmf
(

)

2

v

u

3

+


oleObject4.bin

image5.wmf
(

)

2

1

y

5

+


oleObject5.bin

image6.wmf
(

)

2

3

2

d

c

4

+


oleObject6.bin

image7.wmf
(

)

2

v

u

-


oleObject7.bin

image8.wmf
(

)

2

b

2

a

3

-


oleObject8.bin

image9.wmf
(

)

2

2

1

x

6

-


oleObject9.bin

image10.wmf
(

)

2

2

2

n

m

4

-


oleObject10.bin

image11.wmf
(

)

2

v

3

u

4

+


oleObject11.bin

image12.wmf
(

)

2

2

x

3

1

-


oleObject12.bin

image13.wmf
(

)

2

b

7

a

5

-


oleObject13.bin

image14.wmf
(

)

=

+

2

4

b


oleObject14.bin

image15.wmf
(

)

=

-

2

6

x


oleObject15.bin

image16.wmf
(

)

=

+

2

m

2

k

7


oleObject16.bin

image17.wmf
(

)

=

+

2

b

3

a

2


oleObject17.bin

image18.wmf
(

)

=

-

2

bc

a


oleObject18.bin

image19.wmf
(

)

=

+

2

yz

5

x


oleObject19.bin

image20.wmf
(

)

=

+

-

2

4

b


oleObject20.bin

image21.wmf
(

)

=

-

-

2

6

x


oleObject21.bin

image22.wmf
(

)

=

+

2

2

3

x

4

z


oleObject22.bin

image23.wmf
(

)

=

+

2

2

xy

4

1


image1.wmf
(

)

2

2

2

b

ab

2

a

b

a

+

+

=

+


oleObject23.bin

image24.wmf
=

÷

ø

ö

ç

è

æ

+

2

1

b

2

1


oleObject24.bin

image25.wmf
=

÷

ø

ö

ç

è

æ

+

2

2

7

y


oleObject25.bin

image26.wmf
=

÷

ø

ö

ç

è

æ

+

2

5

b

5

2


oleObject26.bin

image27.wmf
=

÷

ø

ö

ç

è

æ

-

2

y

2

1

x

3

1


oleObject27.bin

oleObject1.bin

image2.wmf
(

)

2

2

2

b

ab

2

a

b

a

+

-

=

-


oleObject2.bin

image3.wmf
(

)

2

y

x

+


